
 

Manufactured of: 
Andersson Steel & Speed AB  Tel: +46 735-25 31 99 
Snickaregatan 2     email: info@anderssonsteelspeed.se 
447 37 Vårgårda                                        Sweden 

Screws included: 

• 2 pcs screw M14x100 

• 4 pcs washer M14 

• 2 pcs lock nut M14 

• 2 pcs screw M10x20 

• 2 pcs screw M8x25 

• 12 pcs screw M8x20 

• 6 pcs nut M8  

SV: Motorfästen för montering av Volvos 5-och 6-cyl. vitmotorer i Volvo 240/ 260.  

Motorn får 12 graders lutning för att stämma överens med tråget från 6:an i 960/S90/V90.  

Om man ska använda en 5-cyl. motor måste oljetråget kortas för att passa. 

Fästplattorna mot blocket kan behöva modifieras lite beroende på modell av block.  

Det finns mång olika modeller av block beroende på vilken motor och årsmodell. 

Det behövs aldrig läggas till något utan bara tas bort. Detta kan man i de fall det behövs, göra 

med en vinkelslip. I vissa block behöver man använda förberedda infästningshål som inte är  

gängade från fabrik. Passar motorer fram till 2007. Se exempel på monteringar på baksidan. 

 

EN: Engine mounts for mounting Volvo's 5-and 6-cyl. white-engine in Volvo 240 / 260. 

The engine gets 12 degree tilt to match the oil pan from the 6 cyl engine of 960 / S90 / V90. 

If you are going to use a 5-cyl. engine, the oil pan must be shortened to fit. 

Attach plates to the block may need to be modified depending on the model of the block. 

There are many different variations of the block depending on the engine model year. 

You never need to add material just remove if the case, it would be so. 

In some blocks you need to use prepared mounting holes that are not threaded from factory. 

Suitable for engines up to 2007. Turn page to see mounting example. 

Engine Mounts Volvo 240 with 5/6-cyl ”White” Engine 

Art. nr. AS-001002-01 

Vänd sida / Turn page 



 

Manufactured of: 
Andersson Steel & Speed AB  Tel: +46 735-25 31 99 
Snickaregatan 2     email: info@anderssonsteelspeed.se 
447 37 Vårgårda                                        Sweden 

B5234T 

avgas sida / exhaust side 

B5234T  

insug sida / intake side 

B6254 

avgas sida / exhaust side 

B6254  

insug sida / intake side 

OBS! Bilderna visar montering med fästen till Volvo 740/940 men 

monteringen mot blocken är samma som till 240. 

 

ATTENTION! The pictures show assembly with brackets for the 

Volvo 740/940, but the assembly against the blocks is the same 

as for the 240. 


